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I  Dispute about cause of burning of n” nxvn after death of yary am, following " Xp» (v. 1)
a  Rma: 3 mentions of command (v. 1) — 1 to indicate that they should eat 127p as 1R, 2" was stated nwyn nywa and
3 ('n MX IWRI) - to indicate that it was 'n 1%, not his own words
i challenge: xn>12 which rules that it was burnt (not eaten) due to My, per "n9R3”
ii  answerl (5x®): R1 #1 follows nTin 7 (burnt due to nkmV); #2 follows nnm 7
1 am772 3" claims it was due to MR — per nYRd
(a) dissent: nT 1 (and w™) claims it was due to nkmv; else all 3 (see below) should have been burnt
(i) All 3: per v.1 (10) — NV PYY YN PPV N PYY
1. Note: only one of them was burned (97 — in the singular) — it was n"1 1Y, per ..]n nNR NRVS...
(b) additionally: if it was due to m»R, they could have eaten them at night
(i) defense: he holds that n%% m»R is n"nn
(c) additionally: oma was with them (not an 118, could have eaten them)
(i) defense: he follows X" —onia wasn't yet a 112
1. #7217 /7. until he killed »nr (v. 3);
2. »wx /7. until he brought peace between the tribes (in Yv17”’s time; v. 4 —he is called jn2n oM19)
a. And:v.3isan313, not an assignment
b. X211 "1 reads v. 4 as identifying his lineage, not an assignment
iii answer2 (827): both rulings are 1™; (DX PYWY) MYV "VTP were to be eaten MPIRL, MNT VTP not
II  Tangent: conjecture as to how 11 and w1 "M’ "1 would each interpret the dialogue in v. 1
a  1":nwn asked if it had gone inside (a: “no”); if it had gone out (a: “no”); if it had been brought mira and thereby bee
invalidated (a: “I brought it, not I’} 71YYR”) — then why was it burned?
i Response (1777X8): perhaps rule of MR being set aside was only for nyw *w71p, not M7 W7
1 Reason:y"p from 1wyn (v. 2) which may not be eaten m»ixa
ii  Conclusion: nwn was pleased — he had been instructed thus and forgotten
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b " »"x (same questions and answers); he then asked they had been carried away with their sadness and neglectfully
allowed it to become ®nv (a: an emphatic “no”) — then why was it not eaten?
i Response (1778): perhaps rule of being eaten m11x1 was only for that night, not during day
1  Reason:"p from wyn (as above)
ii  Conclusion: nwn was pleased — he had been instructed thus and forgotten
1 Question: if so, they should have waited until night and eaten it
2 Answer: it became 8nv due to IR (not neglect)
3 Support: nvn implies that at night it would be eaten
(a) 277 understands Dvn as referring to Dvn nan
(b) Support (for 273): vy 10 (reference to 01PN NaM)
(i) w777 understand Dyn 10 to refer to “them” — they didn’t bring it, I (j7nR) did (no MR 5109)
I Aggadic tangent — 17's claim that nwn had a status of %17 103 (per v. 5)
a  Challenge: in above &n»3, they should have mentioned that onia and nwn were there (to eat as non-m )
i Defense: nwn was occuped with n12w (per his regular early ascents to mountain during "o 71 Thyn)
b challenge: v. 6 permits both »wTp *01p and wHp WP to DN Hya
i justification: WP *WTIP are permitted to I (we assume — nwn); ©oP VTP are “Hp”
ii  defense: 71 here is all D1 — at a nna- per opinion that nnan (DwTp W1p) was offered at Nna
¢ Challenge: ®n1 - who declared p»n to be nymxn?
i Cannot be: nwn, as he is a 71 (nor can 177 as he is a 219p — so 'n Himself performed vonn 7300 etc.)
ii  Defense: in the case of y» mrIn, the text specifies the family (1321 197R)
d  Challenge: Xn»»1a that yawHr had 5 happy “advantages” over every other 587w’ na — yet she mourned over two sons
i Brother-in-law: was 91
ii  Husband: was 9112 103
iii  Son: was 33 o
iv  Grandson (on9): was nnnon mwn
v Brother: was (3110 12 nwni) ROW)
1 Explanation: #1 should’ve been 513 1021 191
2 Defense: means “also king (besides 9172 1n2)”
e  Observation: 27's position is subject to dispute "2 vs. »"2v
i p77 every "R 1n” has a practical impact except for the one at the mo -v.7
ii ~ »7aw7r this also had an impact, as nwn lost his n1n3 to 1INR
1 opom nwn was only 115 during o8> 0N "M Nyaw
2 Some say: only his children lost it, per v. 8 and v. 9
IV Aggadic tangent — picking up on ®n»11 just cited — all & 1190 leaves an impact (save that in v. 7)
a  Challenge: v. 10 — even though nwn was angry (98 1) he said nothing else to Ny
i Defense (579): he slapped him (!)
ii ~ Challenge: 9" took the position, against », that nwn was to honor ny12 at the river (v. 10)
1 Answer: reverse those positions
2 Support (for honoring 7¥19): v. 11 and v. 12 (y’58 honoring arny)
V  Aggadic tangent — X51’s observation that nwn requested ma%n but it was denied him
a  Source: v.13 —'n keeps him from coming n%n, which alludes to monarchy, per v. 14
i Challenge: Rn»92 lists »2w9R’s advantages — her brother-in-law (nwn) is a king!
ii ~ Answer: he requested a dynastic monarchy and it was denied him (but he himself was king)
1 Challenge: 050 also used in re: 9w (v. 15) yet he had no dynasty
2 Answerl: his son, (NWa WR) YPaWR took over for him (under 7128 — see T-1 2"V)
3 Answer2: Rw himself didn’t keep the monarchy, which is why it didn’t carry on to his sons
(a) Sourcetext: v. 16 — if someone is granted greatness, it is given to his generations
(i) But: if he becomes haughty, he is cast down (v. 17)
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